. a— 8
Slm p“fy x—4 Factor all denominators first

x+5 __2x
x2-x-12 x+3

%4 cancels
(x-4)(x+3) 8 Muiltiply the numerator and denominator
. x—4 of the complex fraction by the LCM of
(x-4)(x+3) . s egen 00 all the denominators:
\_(}— 4H(x+3) x+3 (x-4)(x+3)
cancel
g(x+)
X5 — 2x (k-4
x4y Ex +24
1S — oy =\ T o —
XS = 2xt48x —2x >+9x +5
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Problems 26, 28, 44, 46 - 48

Show work to get credit

. . 4x
Simplify: -
Sx 6
~ 3 B i
X2 +6x—7 x2 =1

! < KH) capee [

4x
(x+7)(x+1)(x-1) . x+7(x+1)

(x+7)(x+1)(x-1)

Sx o 6
x+7Dx=-1) @@E+hHx-1

(X+)e(xD cancel

1x (x-l>

SX (X+D) + (b (x+?)

— LiXL—SLX ~
Ex% 4Sx +Hox+¥2. —

Factor all denominators first

Multiply the numerator and denominator
of the complex fraction by the LCM of
all the denominators:

(X+7)(x+1)(x-1)

CxrD £ 6 cance/

Yxt- Yy

Sx=+ x4

Sec 9-6: Solving Rational Equations

1. Solve.
2X 7 5
+ = = =
) 6 g Lep
= /8
2.2x T3 3¢
2 9 63 3 ¢C
XL al 30
72 2% TyE
Yx +2/ =30
=30 =g

x =1
w7

Method 1:

1. Make ALL terms in the equation

have the same denominator.
2. Cancel out all denominators.

3. Finish by solving the resulting
equation for x.



1_Solve.
¥ o J B
0 "6 " 3

l_CMAogf He 3 denominators,
/S (&

1@%}@78

YU +2] =3¢

= 1 -2\

=1 [x=Y,

Solve. 2 4x

Method 2:
1. Find the LCM of ALL denominators in
the equation

2. Eliminate ALL Denominators by
multiplying both sides of the equation by
this LCM.

3. Finish by solving the resulting
equation

3 You could use any of the three methods
_ but since this is a proportion
’7 cross multiplying seems like a good

idea.

2EX = 3(><+(>
PAS Sl P

—3x 33X

25X =3
s 25

X= B/&S

Method 3:
A -+ l — i 1. Simplify each side of the equation
0 6 3 into a single fraction, creating a
‘ proportion.
pa : 25 + l§: 1) 2. Cross multiply.
< 9 62 3 _ .
—_—— 3. Solve the resulting equation.
9x L2/
& /s
— Yx +2/ =365
X =2/
X #2 | =~ 5
/& 3 x =9
3(Yx+21) =P 7 4
3 3 >< B (?/
Solve. 3. 2x = 8
5 X + l You could use any of the three methods
but since this ?s a proporti_on
2;\~X 8 EZ:_S multiplying seems like a good
5 x+1
2% (X—\—D = L—f @
2x T+ 2x =40
=i TIB
TxE 4+ -¥O =0
T 7

REJx — 2D =S

X +3) (x-4) =
X=-54




() 7 B () 1 l \:]qu pa?'t cross-multiply because S_X X - 3 - &
SVE & e S er T e Sdve 5 U T3 T 6 Lem of the
\ ' To eliminate the denominators you //j_\ 5 clénDM//)éﬁf:S
would multiply by the LCM of 1S /12X
6 7 9 [ll\ all four d192nominators: /ozx (5_X _ X 3 — <&> /;)(
(6 TV\_(9 . : 4~ “3x /) e
/X <x N ) 1) X

/EX= Y k) = /X T

V. T =5 — Jl ISXT X A2 =X

I/ x 7 e —/Sx &
72 +3x =5Y -Ix F12 = X =
= = VL i . +Y%y —12
39x=~/§& 2, O= XX -l
37 37 oy O = (x+6) (x-2)
X_ “_@’ - “& +Y
AR X =, 2
Hwk #10 Sec 9-6
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Problems 6, 9, 14, 15, 21

Show work to get credit



